
Board PROBLEMS Ch . 24

(X- h(2 + (y -k)2 = r2
GIVEN THE CIRCLES CENTER (3 ,2)
AND RADIUS OF 5 .5, GIVE 4k

EQUATION OF CIRCLE .

-

GRAPHING FORM

STANDARD FORM

GIVEN X2-8x +y3+12y = - 48②
FIND CENTER AND RADIUS OF CIRCLE

C =

2 =

③ GIVEN 4(X-1)
2
+ 36(y+ 1)2 = 36

FIND THE, COORDINATES OF THE

CENTER 3 X and Y EXTREMITIES .

=
-

↓



y = y2
Ch . 24 - Parabola's

y :AX2 Parent function ,
graphingcons

T-chart Pick solve
X Y y=

y =z=
y = - x2

y
= Ax2 +Bx +C

A = changes stretch or compress
of the parabola 2

As It) y = 2X
stretch =

↑

0 < <(1)
>

FLIP =
-

-

REVIEW OF TRANSFORMATIONS

1
. y-stretch y-compress
2 . flip over X-axis



=

Sei
2

= X + 1
I

↳



24-2
Not only can the graph become steeper, more spread out, or inverted; it can also move like a translation (See

transformational geometry in the Geometry course.) For example: Y = X2 + 2. See Figure 1. It is the same parabola, just

moved, or translated, up 2 on the Y axis. If the term is a negative number the parabola would move down the Yaxis.

See Figure 2.

Figure 1 Figure 2

x Y
o 2
1 3
-1 3
2 6
-2 6

x Y
o -3
1 -2
-1 -2
2 1
-2 1

Y=X2- 3

Practice Problems
Estimate what the graph should look like, then plot several points to confirm your hypothesis.

5) X = 213y2 +2

2) Y = 1/2X2 +3 4) Y=-1/3X2 +1 6) X = -2y2_1

Solutions

1) 5)3)

X Y X Y Y X
0 1 0 2 0 2
1 3 1 1 1 8/3
-1 3 -1 1 -1 8/3 /
2 9 2 -2 2 14/3
-2 9 -2 -2 -2 14/3

Y=2X2 +1 Y =_X2+2 X = 2/3y2 +2

2) 4) 6)

X Y
X Y Y X0 3

1 7/2 0 1 0 -1
-1 7/2 1 2/3 1 -3
2 5 -1 2/3 -1 -3
-2 5 2 -1/3 2 -9-2 -1/3 -2 -9

Y = 1/2X2 +3 Y = -1/3X2 +1 X = -2y2-1
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Kuta Software - Infinite Algebra 2 Name___________________________________

  Period____Date________________Function Operations

Perform the indicated operation.

1)  

  

g(

  

n) = 

   

n2
 + 4 + 2

  

n

  

h(

  

n) = 

 

−3

  

n + 2

Find (

   

g ⋅ 

  

h)(1)

2)  

  

f (

  

x) = 

 

4

  

x − 3

  

g(

  

x) = 

   

x3
 + 2

  

x

Find (

   

f  − 

   

g)(4)

3)  

  

h(

  

x) = 

 

3

  

x + 3

  

g(

  

x) = 

 

−4

  

x + 1

Find (

   

h + 

  

g)(10)

4)  

  

g(

  

a) = 

 

3

  

a + 2

  

f (

  

a) = 

 

2

  

a − 4

Find (

   

g

  

f )(3)

5)  

  

g(

  

x) = 

 

2

  

x − 5

  

h(

  

x) = 

 

4

  

x + 5

Find 

  

g(3) − 

  

h(3)

6)  

  

g(

  

a) = 

 

2

  

a − 1

  

h(

  

a) = 

 

3

  

a − 3

Find (

   

g ⋅ 

  

h)(−4)

7)  

  

g(

  

t) = 

   

t2
 + 3

  

h(

  

t) = 

 

4

  

t − 3

Find (

   

g ⋅ 

  

h)(−1)

8)  

  

g(

  

n) = 

 

3

  

n + 2

  

f (

  

n) = 

 

2

  

n2
 + 5

Find 

  

g(

  

f (2))

9)  

  

g(

  

x) = 

 

−

  

x2
 − 1 − 2

  

x

  

f (

  

x) = 

   

x + 5

Find (

   

g − 

   

f )(

  

x)

10)  

  

f (

  

x) = 

 

3

  

x − 1

  

g(

  

x) = 

   

x2
 − 

  

x

Find (

   

f

  

g )(

  

x)

11)  

  

g(

  

a) = 

 

−3

  

a − 3

  

f (

  

a) = 

   

a2
 + 5

Find (

   

g − 

   

f )(

  

a)

12)  

  

h(

  

t) = 

 

2

  

t + 1

  

g(

  

t) = 

 

2

  

t + 2

Find (

   

h − 

   

g)(

  

t)

-1-
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13)  

  

f (

  

x) = 

 

2

  

x3
 − 5

  

x2

  

g(

  

x) = 

 

2

  

x − 1

Find (

   

f  ⋅ 

  

g)(

  

x)

14)  

  

h(

  

n) = 

 

4

  

n + 5

  

g(

  

n) = 

 

3

  

n + 4

Find (

   

h − 

   

g)(

  

n)

15)  

  

g(

  

a) = 

 

−3

  

a2
 − 

  

a

  

h(

  

a) = 

 

−2

  

a − 4

Find (

   

g

  

h )(

  

a)

16)  

  

f (

  

n) = 2

  

n

  

g(

  

n) = 

 

−

  

n − 4

Find (

  

f

  

g)(

  

n)

17)  

  

h(

  

a) = 3

  

a

  

g(

  

a) = 

 

−

  

a3
 − 3

Find (

   

h

  

g )(

  

a)

18)  

  

g(

  

n) = 

 

2

  

n + 3

  

h(

  

n) = 

   

n − 1

Find (

  

g

  

h)(

  

n)

19)  

  

h(

  

x) = 

   

x2
 − 2

  

g(

  

x) = 

 

4

  

x + 1

Find (

  

h

  

g)(

  

x)

20)  

  

g(

  

t) = 

 

2

  

t + 5

  

f (

  

t) = 

 

−

  

t2
 + 5

Find (

   

g + 

  

f )(

  

t)

21)  

  

g(

  

x) = 

 

2

  

x − 2

  

f (

  

x) = 

   

x2
 + 3

  

x

Find (

  

g

  

f )(

 

−2 + 

  

x)

22)  

  

g(

  

a) = 

 

2

  

a + 2

  

h(

  

a) = 

 

−2

  

a − 5

Find (

  

g

  

h)(

 

−4 + 

  

a)

-2-


